FHEEEASRTENBESERARBARER - BRATE

(EhiE R

BEREREZEHBERANBZRANRHITFRE

B BEMLENRERKE

B —EANRE

S REEEWEE - MR LERNEET

TEEESE AN - PR L EER
ERRRERREERR
EETZE S o

V|

5=

HRA A 1008 FH A S L
RS > LA T 14% > BERR
i o EEL—M o> A RENE g%
B o B R O L R
RIS TUFNAL M BHZERY o BESRAEE
R RS BLARARE S K RO
JEFBE > H R R ER R R 8RR

X
ERABEERES
ARIER
FERRES
PR ZEE

e 6

BH o A5 85 FRIF AT R H S PR
BYHERR N BEA R BOLNE
BRI KNG 2 e S B B A T 1T
7% M F A REYET I - BRER
st @B R AR T BE A
A TR R -

WOt > SR EE R E BN
R ZRIEFTUFTT > S AETE(E

fEmRIEER

b B B B AL P S VSR R
FLEITEDL

MRFE

CEERFE-HENAM
SRR N = K it N &
o 255 R B o 11 {6 B 1Y 52 0 4 5
13244 (A9 N (EFLAH) > A 4R
A8 2 JE TR A R VRS B
7FJA B SC RIS > 2 AR

o AR Em%@%&nﬂﬁﬂ@%ﬂ
El’Jl 14298 N > At A" ER 43w 18
R > ELASHR B TR A e K5
BB SRS A - Sl A A
i o

AN > 67745726 B ABFLAE LA
2591453 H ¥ IRAH MY B R K RE
BB GCEE ~ SRR T2 K&
BEfH > IR I AT o fhIER
A i B TIRY R VAE T s il ) v
SSRGS AL E L -

(BB A A3} BEAH A2 N 1 Bt
LR > A T AAE
B (47.2 £125% vs 44.8 + 145%) ~
PR [t 82.6% (109N) vs
73.7% (84N)] ~ FEERLEHETY
MEHEG9 £ 24 vs 56 £ 23)
KABWRTL [E48 © 80.3% (106
N) vs 71.9% (82 N)] ZBAH

WIS » 111 ERLARR
K& 544 B A R g B A (E
B RIEERR AR AN B A0 5K 88 i
AAER Y L] - 53 Al Ah 16.4%
677 NI A)FI9.1% (591 A H?
H54 )

fFRRAR BT HEAH LU > ()
s N B2 R BE LB BA E
F o 47 R LI AN — 1L
SRLA R R B R - Bk
BHRALAY31.6% 5 1A Wz LA
R E BB A AR ) (E B AE

#HARK
20074 2A16H EM A

N B 5527.3% >
f19.6% °

e A S R A
EREREUR AR
FBE B B A AL - AR
R R R g T

R

PAEWFFLRUR > (ERL R R
BRIEERNE - — AR ZEE+
A2 JN AT AL > A R
14 R R o S AT DL HE A
A SR LR ~ ARBA A
PERNILIR] A TR ER AT B

BB XEBEKRAR
RiEREFENTARE

T REBTE R FIR
SERE (R RL T > AR N R EE
A 3 L R 8 R
o A BLER S IETEMFTT - K
S RE [H] N BB 2855 41438K
7778 4654 » BLGL/INGHTERAE o



